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This is a weak application, and should fail.

1 The application should be accompanied by detailed, concrete and irreversible proposal of plans to deal with the extra
aircraft when they are in the air.

2 They need to explain why this isn't a new runway, when clearly it is a new runway, as it will provide two functioning
runways at GATWICK, while presently there is one.

3 Explain why they need more runways, to meet requiremnts, instead of using bigger aircraft. eg this Saturday. How many
flights are there from LGW to AGP, this Saturday? | can count ten, but there are probably more.

4. Explain why the years and millions of pounds spent on a detailed and exhaustive public enquiry deciding that an extra
runway should be placed at Heathrow is incorrect.



